EAT (AU S X]

2024 &£ 1 A 28 B (H)

A% BHDCP FTHUHIPR -

HDCPLER:  (5) (%)

2 Lh-b:

79h 1y

==

[[:%iva BHEES g 79h | 4Y |GROSS| HDCP | NET
B B EE BE= 40 39 79] 9.5 69.5
2B B8 F 35 38 73 2.7 70.3
M R FE 40 42| 82/ 11.5 70.5
M [FI BE A1 44| 85/ 13.5 71.5
5 |EAX ¥EA A1 39 80| 7.5 72.5
6 |[fkik FE 43| 44| 87| 14.5 72.5
M B 54 42] 43 85 12.3] 72.7
8 Bk & 42| 42| 84/ 10.5 73.5
o AR H— 40| 42| 82| 8.5 73.5
106 @& = 45 38 83| 8.5 745
NN 43| 41| 84 9.5 745
1260 Bl 24 40 46| 86| 11.5 74.5
136 [pIEp & 43 40| 83| 7.5 75.5
146 IREX BT 45| 42| 87/ 10.7 76.3
156 k2K % 42| 46| 88 11.5 76.5
1661 | £ff = 36/ 50/ 86/ 9.5 76.5
176 EEX @m% 42 43 85 7.9] 77.1
1861 [E#E — 44 41| 85 7.5 T1.5
196 Ak =M 46] 46| 92| 14.5 T1.5
2061 |=9F #b 43| 43 86/ 8.5 71.5
ALEE A 43| 45 88| 10.5 71.5
22061 [#HE  FE& 40| 46| 86/ 8.5 71.5
2361 [JHF HE A1 43 84| 5.9] 78.1
21 =8 EE 46] 45/ 91| 12.5 78.5
2561 [ZH =R A1] 48] 89 10.5 78.5
266 AT 1B 421 45 87| 7.9 79.1
2761 | K#f1 Fx A5 46] 91 11.7 79.3
2841 |AlL BB 48] 44| 92| 10.9| 81.1
2961 | EE XA 45 51| 96| 14.5 81.5
06 A& —2 42 41 83 0.9 82.1
6L [FIER —RB 421 51| 93] 10.7 82.3
3261 [BF EA 49] 44| 93] 9.9| 83.1
336L [EA X 45| 48] 93] 9.9] 83.1
U [ HR Ex 42] 50/ 92| 8.5 83.5
Bhr [EE R 47 48] 95/ 10.9] 84.1
66 [HE FX 47 47| 94] 9.5 84.5
YL ARNTE: 3 53 42| 95/ 9.5 85.5
8L |[ERX HB 50 43| 93] 6.7 86.3
96 [BE EH 46] 49 95/ 4.9] 90.1
06 [ FE - 50/ 55/ 105/ 14.9] 90.1
P-1 IS5 yhINTHST




